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Rond 20 Dec.

8. Gertie (1N)
6. Ove (20)
5. Ingrid (2N)
3. Gittan (10)
Rond 2

8. Gertie (1N)
2. CGX (20)
1. Kjell (2N)
6. Ove (10)

Rond 31 Jan.

8. Gertie (1N)
5. Ingrid (20)
4. Bodil (2N)
2. CGX (10)
Rond 4

8. Gertie (1N)
1. Kjell (20)
7. Karin (2N)
5. Ingrid (10)

Rond 28 Feb.

8. Gertie (1N)
4. Bodil (20)
3. Gittan (2N)
1. Kjell (10)
Rond 6

8. Gertie (1N)
7. Karin (20)
6. Ove (2N)
4. Bodil (10)

Rond 7 21 Mars

8. Gertie (1N)
3. Gittan (20)
2. CGX (2N)
7. Karin (10)
Rond 8

8. Gertie (1N)
6. Ove (20)
5. Ingrid (2N)
3. Gittan (10)

Syskon
Gittan (3)
Gertie (8)
Ingrid (5)
Karin (7)
Bodil (4)
Ove (6)
Kjell (1)
CGX(2)

CGX
. Kjell (1S)
. CGX (2V)
. Karin (2S)
. Bodil (1V)

ANN -

. Bodil (1S)
. Ingrid (2V)
. Gittan (2S)
. Karin (1V)
Kjell

. Karin (1S)
. Kjell (2V)

. Ove (2S)

. Gittan (1V)
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. Gittan (1S)
. Bodil (2V)
. CGX (2S)
. Ove (1V)
Ove

. Ove (1S)

. Karin (2V)
. Ingrid (2S)
. CGX (1V)
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.CGX (1S8)
. Gittan (2V)
. Kjell (2S)
. Ingrid (1V)
Bodil
5. Ingrid (1S)
6. Ove (2V)
4
1

A= WN

. Bodil (2S)
. Kiell (1V)

1. Kjell (1S)
2. CGX (2V)
7. Karin (2S)
4. Bodil (1V)

Imp +

189
235
198
231
228
268
288
279

Imp -

290
244
281
248
251
211
191
200

24
24
56
56

33
33
24
24

32
32
29
29

40
40
31
31

24
24
26
26

22
22
10
10

48
48
14
14

21
21
45
45

Kvot
0,65
0,96
0,70
0,93
0,91

1,27
1,51

1,40

VP
95
117
97
117
115
135
145
139

23
23

12
12
18
18

14
14
16
16

13
13
17
17

16
16
14
14

12
12
18
18

24
24

21
21



Rond 26 April
8. Gertie (1N)
2. CGX (20)
1. Kjell (2N)
6. Ove (10)
Rond 10

8. Gertie (1N)
5. Ingrid (20)
4. Bodil (2N)
2. CGX (10)
Rond 30 Maj
8. Gertie (1N)
1. Kjell (20)
7. Karin (2N)
5. Ingrid (10)
Rond 12

8. Gertie (1N)
4. Bodil (20)
3. Gittan (2N)
1. Kjell (10)
Rond 28 Juni
8. Gertie (1N)
7. Karin (20)
6. Ove (2N)
4. Bodil (10)
Rond 14

8. Gertie (1N)
3. Gittan (20)
2. CGX (2N)
7. Karin (10)

Gertie
. Bodil (1S)
. Ingrid (2V)
. Gittan (2S)
. Karin (1V)
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. Karin (1S)

. Kjell (2V)

. Ove (2S)

. Gittan (1V)
Gittan

3. Gittan (1S)

4.Bodil (2V)

2. CGX (2S)

6. Ove (1V)

wo -~

. Ove (1S)

. Karin (2V)

. Ingrid (2S)

.CGX (1V)
Ingrid

.CGX (1S)

. Gittan (2V)

. Kjell (2S)

. Ingrid (1V)
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5. Ingrid (1S)
6.0ve (2V)
4. Bodil (2S)
1. Kjell (1V)



